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a) There are 4 aliens from Jupiter and s aliens from Venus.
4x1 =44
104 - 44 = 60
60=5x12
60+44 =104
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33+ 3 =12 s the odd one out because it is the only calculation whose answer is incorrect. The answer is 1l not
12,
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4 lots of 10 beads = 40

4 lots of 2 beads = 8

4 lots of 12 beads = 48
4x10+4x2=4x12=48
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Draw It Describe It Calculate It

@ 3 lots of 10 = 30 Possible answers:
3lots of 1 =3 3x=33

@ 3 lots of Il = 33 3x10+3x)=33

Children will draw an image that
shows 2 lots of 10 and 2 lots of 2.

2 lots of 10 = 20
2lotsof 2= 4
2 lots of 12 = 24

Possible answers:
2x12=24
2x10+2x2=24

Children will draw an image that
shows six lots of ten and six lots of 1.

6 lots of 10 = 60
6 lots of 1 = 6
6 lots of ) = 66

6x10+6x1=11x%x6
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3) 7x12=84 108 -9 =12 11x5 =58 121+ N=11
84=12x7 11=132-=12 #x11=88 9=99-11
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33+ 3 =12 s the odd one out because it is the only calculation whose answer is incorrect. The answer is 1l not
12,




